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1A ZD(LH) = 21| |8t (G.H) + ZA|(B.S) A D(LH) = 1R & 2|8t(G.H) + ZA|(B.S)
0|2 M Rt = 7|74I_’(I H) - HAI(F.S) 0|2 Z|8t0= 7|A 20 (1.H) - HA|(F.S)
=4 2|8t = 7| | 3t (G.H) + =AIRHEB.S) - =24 2|8t 0= 7|2 X|8B10(G.H) + FAI(EB. S)
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221 A 0=|H-BH=11.95-0.85=11.1(m) 221 Y= |H-BS=11.95-0.85=11.1(m)
22 2B D=GH+3BS-5FS=11.1+0.85-115= |22 A|ED=GH+3BS-3FS=11.1+085-1.15=
10.8m 10.8m
243 A80=111+0.85-0.4=11.75m 223 28t10=11.1+0.85-0.4=11.55m
224 2/8t1=11.1 + (0.85 + 0.50) - (0.40 + 0.95) = 224 Z|8t0=11.1+ (0.85 + 0.50) - (0.40 + 0.95) =
11.1m 11.1
225 2|8ta= 111+ (0.85+ 0.50) - (0.40 + 0.1) = 225 Z|8t=11.1+(0.85+ 0.50) - (0.40 + 0.1) =
11.95m 11.95m
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1) E2HT) :%X [0+4><(50+300) +2 <100 + 500] :3,507m:3

e 1) MEZ:3,500m3
i
1) E2F(V)=5/3x[0+4x(50+300)+2x100+500]=3,50 0m3
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